$$x + 5 = -3$$

 $-5 - 5$
 $\chi = -3 - 5$
 $\chi = -3 + -5$
 $\chi = -8$

$$\begin{array}{c} \sqrt{x} + 10 &= 2 \\ -10 &= -10 \end{array}$$

$$X = 2 - 10$$

$$X = 7 + -10$$

$$X = -8$$

$$[x]$$
- (-3) = 10
+ (-3) + (-3)
 $X = [0 + -3]$
 $X = [7]$

$$-2.6 = -7.-2$$

$$-2.7 - 2$$

$$0 = -7.-2$$

$$0 = -7.-2$$

$$x + (-3) = 10$$
 $-(-3) - (-3)$
 $x = 10 - (-3)$
 $x = 10 - (-3)$
 $x = 10 + 3$
 $x = 10 + 3$

$$[x]-7=3$$
 $+7+7$
 $X=3+7$
 $X=10$

$$\frac{24}{-8} = \frac{-8h}{-8}$$

$$\left[-3=h\right]$$

$$-16+20=X$$



$$\begin{array}{c} -5 + x = 7 \\ -(-5) \\ x = 7 - (-5) \\ x = 7 -$$

$$-8 = |x| - 4 + 4 - |x|$$

$$-8 + 4 - |x|$$

$$-8 + 4 - |x|$$

$$-8 + 4 - |x|$$

$$8t = -56 \\ 8$$
 $t = -56 \\ 8$
 $t = -7$

$$-5 \cdot -1 = \frac{m}{-5} \cdot -5$$

$$M = -5 \cdot -1$$

$$M = 5$$

$$\frac{-10w = -100}{-10}$$

$$W = -100$$

$$W = -100$$

$$-2 \cdot \frac{h}{-2} = 6 \cdot -2$$

$$M = 6 \cdot -2$$

$$M = -2$$

$$\frac{-69 = -6}{-6}$$

$$9 = -6$$

$$9 = -6$$

$$9 = -6$$

$$9 = -6$$

$$-9.5 = \frac{4}{-9}.-9$$
 $-9.5 = \frac{4}{-9}.-9$